NFOR (FE - FRiEQ)

ti T BA
1] rostEELEEL,
D Txx(-4) @  (-5a) x (-8) @ (—42a)+(-7)
= -28% -
= %Q = 6&
@ 040ﬁ+§ ® 2(12x —9) ® —%Q40x+®
= -25% - 24X ~(8 =8x -2
Ta—4 3
@ (28y—4)+(-4) v <15
=-Trel =20 -12
2] ROHEELLEL,
2x-5 2 + 2x+5 S _4x-7
© » X 6 2@ -—HMx = &) ﬁ( y j
- %x-/0 =-4x-/0 = -20%-38
@ 5x+3><8z 9 2a—3x%3 C)i;x4x_1
74( 6~[ 7/
= [ox+6 :6&-? = gFx-2

133K 8mDERKELHHD. COEREOftEZamR< L, HEZ3amBELILERFHEEAOREHFL L
EFRE(EdEE. TEBEFHED 1 AOREE, aZfE>TRLEE,

2(g+0)+ 2(8-30) = /6e20 1660 (H#ar)E
= ~f0t32
Elo&t

-0t 8 cm




